	
	


	
	



I
Correlations between productivity and infrastructure
This appendix provides further background on the trends in infrastructure and productivity and the correlation between them. 
It should be noted that these correlations are based on the data used in the modelling exercise and do not include any ABS revisions to these data since November 2003. The data therefore differ from the most recent multifactor productivity (MFP) data presented in chapter 3. Revisions to the ABS National Accounts methodology in 2004-05 mainly resulted in changes to the levels rather than significant changes in growth rate patterns (see ABS 2005). However, of the ten industries examined in this paper the most significant changes to the growth rate patterns were in Finance & insurance and Retail trade — over the period 1974-75 the average growth was revised from -0.5 to 0.5 per cent a year for Finance & insurance and from 0.6 to 0.9 per cent a year for Retail trade.
I.1
Productivity growth compared with growth in infrastructure services 

At the level of the market sector, there is no clear relationship between productivity growth rates and growth rates in unadjusted road and communication infrastructure services. There is some evidence of a positive relationship between productivity growth rates and growth rates in the infrastructure measures that have been adjusted by a value-added based usage factor (figure I.1). However, because the usage adjustment is based on value added there is some lack of independence between the measures of MFP and infrastructure.
Figure I.1
Plots of market sector productivity and infrastructure services growth rates, 1975-76 to 2002-03
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(continued on next page)
Figure I.1
(continued)
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Data source: Authors’ estimates.

The industry focus in this paper covers ten of the industries included in the ABS’s market sector. It should be noted that productivity estimates are less accurate at the industry level than at the aggregate level.
 Figure I.2 shows the relationship between MFP growth and growth in infrastructure measures. Again, there is no clear relationship between MFP growth rates and growth rates in unadjusted road and communication infrastructure services. Further discussion on individual industries is provided in appendix F.
Figure I.2
Plots of industry productivity and infrastructure services growth rates, 1975-76 to 2002-03

	Agriculture, forestry & fishing
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	Mining
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	Manufacturing
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(continued on next page)
Figure I.2
(continued)
	Electricity, gas & water
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	Construction
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	Wholesale trade
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(continued on next page)
Figure I.2
(continued)
	Retail trade
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	Transport & storage
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	Communication services
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(continued on next page)
Figure I.2
(continued)
	Finance & insurance
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Data source: Authors’ estimates.

� Any bias in use of a value-added basis of measurement, rather than gross output, is more severe at the industry level (Cobbold 2003). There is uncertainty about the industry allocation of hours worked. And there may be issues about the precision of estimates of industry output (Zheng 2005). Services outputs present more severe measurement challenges, especially where there are changes in quality to take into account.
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